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INSTRUCTIONS AND INFORMATION

1. This question paper consists of TWO sections:

SECTION A: 40marks
SECTION B: 160 marks
GRAND TOTAL.: 200 marks

1. QUESTION 1 to 4 are COMPULSOR

nd :'{must be answered by ALL
candidates

2. Answer any FOUR of the other five questions (5 to 9).
3. Start each question o ‘
4. Read ALL the qu

Number the
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SECTION A: COMPULSORY

QUESTION 1

Indicate whether the following statements are TRUE or FALSE. Choose the answer

and write only ' frue’ or ' false' next to the question number (1.1-1.20) in the ANSWER
BOOK.

1.1 Structures within an organization make communication difficul
1.2 Collective bargaining is a management initiative.

1.3 Procedures play a less important role in the workplace

1.4

1.5

1.6

1.7 Good human relations are possible th

1.8 In a briefing group comm ion does nottake place face-to-face.

1.9 The shop steward is th

1.10 culture to resolve problems externally.

(10x 1) [10]
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QUESTION 2

Choose a description from
Write only the letter (A-J)

COLUMN B that matches a/an word/item in COLUMN A.
next to the question number (2.1-2.10) in the ANSWER

N850(E)(N14)H

BOOK.
COLUMN A COLUMN B

2.1 Brief Takes place when management_and
the union are in 0Opposing positions.

2.2 Collective bargaining
A written document

2.3 Demotion relevant informat

2.4 Mediation

2.5 Redundancy

2.6 Union representation the parﬁes in dispute get

third neutral party.
2.7 Distributive bargaining ;
here there is pressure and
2.8 Lock-out essure from both parties.
2.9 Productivity agreement.

2.10

Retrenchments -

This is also known as dismissals due
to operational requirements.

Employer' s equivalent of a strike.

The service of an employee s
terminated to save labour cost.

Type of agreement established with
employees to improve labour
effectively.

Caopyright reserved
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QUESTION 3

Give ONE word/term for each of the following descriptions. Write only the word/term
next to the question number (3.1-3.10) in the ANSWER BOOK.

3.1 This is a strategy to facilitate bargaining rather than a method of bargaining.

3.2 Both parties have the same preference for a successful outcome

3.3 The interactive process aimed at a fair, reasonable and mu ‘iéilly :
positioning of one party in the interaction with another part

3.4 It is a dynamic process of human behaviour and.ifipli in the
cooperation between people. ‘

3.6 A negotiation style used implemented to meet th

3.6 The trade union representative at the worl

3.7 A continuous disagreement betwe ,
unions as regards any matter of common i

3.8 this type of bargaining at a bargaining council.
3.9 cils.
3.10

reduce the negative effects of the grapevine

(10x 1)

rd(s) from those given in brackets. Write only the word(s) next to
¥(4.1-4.10) in the ANSWER BOOK.

Policies/Procedures) bind management to definite and specific action.
n agreement about wages is a (Procedural/Substantive) agreement.

4.3 The right to strike is the right of (Management/Trade union).

4.4 (Retrenchment/Lay-off) occurs when the services of the employee is
terminated because no jobs are available for a certain period of time.

4.5 The (Briefing group/Workplace forum) aims to promote the interests of all
employees and not only those belonging to trade unions.

[10]
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4.6 Employers do not use the (Productivity/Technology) agreement to bypass
vearly negotiations for higher salaries.
4.7 When the trade union approaches the employer for recognition, a
(mandatory/voluntary) relationship is formed.
4.8 (Bargaining/negotiation) is a win or lose interaction between two parties in an

economic exchange process.

4.9 When the contract of employment is signed, there exists a(
relationship between employer and employee. '

4.10 Relations with trade unions are part of the (personnel/
[10]

TOTAL SECTION A: 40

1
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SECTION B

INSTRUCTIONS FOR QUESTIONS 5 TO 9

1. Answer any FOUR of the five questions (QUESTION 5 TO 9).
2. Use headings to distinguish between sections.

3. Avoid repetition of facts.

4. Use clear, full sentences and show the examiner that y

question and its contents.

QUESTION 5

Read the following scenario and answer the questio

AB Furniture is a Sole Trader operating conly in Gt
AB Furniture are currently very unhappy about their wag
increase of 30%. The company intends to scale:

laws, for example, that employees ve to becom ermanent after a year. Trade
union XY had been recognised b management of AB Furniture and approaches
management for negotiation.

5.1 List SIX environmental factors that trade union XY will have to take into
\ (6x1)

5.2 rtrad union form a bargaining unit. Briefly discuss what is

argaining unit. 2x1)
5.3 evels will bargaining take place? (2x1)
5.4 r XY had been recognised by management of AB Furniture.’ List

X:items that will be included in this recognition agreement. (6x1)

me and briefly explain the SIX steps/stages that need to be followed during
is negotiation for higher wages. (12 x 1)

5.6 ‘When bargaining collectively, negotiating parties should aim at a win-win

situation’. Discuss integrative bargaining as a method to enable the parties to

ensure this. (5x1)
5.7 Name SEVEN subjects that should be included in an labour relations policy.
(7 x 1)

(6)

(2)
)

(6)

(12)

(5)

(7)
[40]
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QUESTION 6

Read the following case study and answer the questions.

Songezo works in the mining industry. He is concerned about his health as he has to
work regularly underground and also very long hours. He is unhappy with management
as they do not pay attention to his complaints about serious possible risks at the work.

6.1 It is clear that management is neglecting their role with regarq ,
safety at the workplace. Describe management's role in the opera
Health and Safety Committee.

6.2 Songezo can register a grievance. Name and bri
of the grievance procedure.

6.3 ‘To help Songezo to make his voice heard
at plant level." With regard to this statem
6.3.1 Name FOUR plant level bodies he can join. (4 x 1)
6.3.2 Briefly discuss SIX reasons why, erﬁployee representation is
important at plant level. ' (6x1)
6.4 Name TEN alternatives to retre . (10 x 1)
QUESTION 7
7.1 Discuss.F es’; ces between centralised bargaining and decentralised
bargai O (10 x 2)
7.2

aracteristics of a mediator can have an influence on the effectiveness
ist any FIVE characteristics. 5x1)

Definition of a dispute of interest. (2x2)
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7.3.2 Indicate in each of the following cases whether it is a dispute of
right or a dispute of interest:

(a) negotiation for higher wages
(b) employer not adhering to the contract of employment

(c) non-adherence to a collective agreement

(d) negotiating for better medical benefits

(4)

7.4 List any SEVEN variables that determine whether bargai
on a centralised or decentralised level. (7
[40]
QUESTION 8
8.1 Complete the following table to explain the differ nces between the following
concepts:
DECISION-
CONCEPT DEF!NIT"ION% MAKING POWER
Negotiation 8.1.1 8.1.9
Conciliation 8.1.10
Mediation 8.1.11
Arbitration 8.1.12
(12 x 2) (24)
8.2 enario and answer the questions that follow.

edly stole money. She was informed through a written notice
_of a disciplinary hearing that she had to attend.

Fame any FIVE items that should appear in a disciplinary hearing
notice. (5x2)

Which sanction should be applicable for stealing money? (1 x 1)

'Mrs Janet must be given the opportunity to put mitigating factors
on the table to soften the possible sanction.'! What are the FIVE

factors that she could consider? (5x1)
Name the FIVE parties that should be present during this meeting.
8.24 (5x1)

QUESTION 9
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Read the following case study and answer the questions that follow.

20 Mar 2014 13:59| ED STODDARD

The ongoing illegal strike in the platinum belt is having a detrimental effect on the
pockets of not only miners, but the community at large.

As South Africa’ s biggest post-apartheid mine strike marks its eighth week on
Thursday, there are still no talks between the two sides to the strike, the Association of
Mineworkers and Construction Union (Amcu) and the world' s top platinum producers,

Anglo American Platinum, Impala Platinum and Lonmin, and they remain poles apart
on the issue of wages.

A wave of violent, wildcat strikes that erupted periodically in 2012, rooted in a turf war
between Amcu and the National Union of Mineworkers (NUM), cost platinum and gold
producers more than R16-billion that year.

The lost wages have been felt immediately in the communities along the platinum belt
northwest of Johannesburg. Many workers want to return to work, but are too afraid as
they fear for their lives.

Source: Adapted from Mining strike hits SA macro and micro economy
hit@:éfm%&za/afiicie/%‘%4*(}3*28-méﬁim~s&iz%ke»«h§isn3a~macr«t}«and-micmuemmmy

.1s meant by an illegal strike? (2x1)

efine a wildcat strike. (2x1)
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9.3

9.4

9.5

9.6

o

9.8
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It is said that this ongoing strike had a detrimental effect on the pockets of the
strikers and the community at large.” With reference to this statement discuss
the costs of strikes with reference to-

9.3.1 Public costs (3x2)

9.3.2 Private costs (4x2)

Briefly discuss the role of the police during a strike.

List TWO other industrial actions that trade unions could hav
a strike.

It is very important that management should be a

sible indicators
of conflict. Briefly discuss any THREE conflict indie:

(3x2)

llustrate the route for dispute resolution aceording to th
66 of 1995 that should have been folloy by thes
engaging in a strike.

bour Relations Act
trade unions before
(4x1)

It is clear that there was a breakdown
Briefly discuss SEVEN reasons for co
bargaining.

nunication between the parties.
t that necessitates collective
(7 x 1)

TOTAL SECTION B:
GRAND TOTAL.:
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(4)

(7)
[40]

160
200



